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1. Work out an estimate for

a 583× 6.8 f 82× 45

b 146× 41 g 550× 6.13

c 81.1111× 43.2 h 146.2× 48.6

d 531× 6.7 i 150× 38.1

e 85× 45 j 525× 6.4

You may match with

80× 40 80× 50 90× 50 100× 40 100× 50 200× 40 500× 6 500× 7 600× 6 600× 7

and

3000 3200 3500 3600 4000 4000 4200 4500 5000 8000

2. Work out an estimate for 3.6× 98

2. . . . . . . . . . . . . .

3. Work out an estimate for 43.333× 760

3. . . . . . . . . . . . . .

4. Work out an estimate for 38× 5.4

4. . . . . . . . . . . . . .

5. Work out an estimate for 658× 32.35

5. . . . . . . . . . . . . .

Answers 1a) 600× 7 = 4200 b) 100× 40 = 4000 c) 80× 40 = 3200 d) 500× 7 = 3500

1e) 90×50 = 4500 f) 80×50 = 4000 g) 600×6 = 3600 h) 100×50 = 5000 i) 200×40 = 8000

1j) 500× 6 = 3000 2) 400 3) 3200 4) 200 5) 21 000

cbna To see licence visit http://creativecommons.org/licenses/by-nc-nd/4.0/. SRS Learning Limited


